[ S 3FE ﬂM$$%&%AVAﬁA®F%£mmﬂmz%m]

O AM3E9IF28H (K) ~308 (K). BLHTASRE
<EFER> <tvh—>
1E8 BBL=d 1:2 BBL=H 1E% BL=F 2:0 EBLETP
2B BL=F 0:3 RS
<INL—R=b (BF) >
FEU—4 LU= 0:2 HIA+H <gliE>
LU= 2:1 %=HETD T FEk 34
FEU—Y BLU=F 0:4 HARUFH
<NL—R=b (&F) > BHU=ch 3:0 ®rETF
-4 EL= 0:2 fHE- S SREEM-XN BBIL=FR 1 : 0 EEWE
BU=ch 2:0 ®/rET SRR BRL=h 1 : 1 BEfRsh
(HoIREIIER)
<NZHY RR=IL (BF) >E B FEk ~NZ 8
1E8 BL=sh 70:29 EBL—F F&U—4F EBLU=F 0:3 RES
2B L=+ 80:23 ZEXMEF BU=ch 3:1 L=
3EE EL=ch 45 :38 BRI SREEM-TXUN BBIL=rR 1 : 2 BAfER
SRR EBBIL=c 56 : 18 ERLMEESE
R U= 83 :26 EHF <SR (BF) >
w1 _ .
<NRITY RR=IL (&) >EH PRI ﬂﬁzﬁ ;;1 $ﬁ§¢
2B L= 66: 11 e RESELRT-S ISR 3:0
SE EL=h 71027 #l— B~ BRUSR 0 : 3 #nUieh
:—%EQH# MU=k 58: 42 FEHF L= 3:2 &~ ad
SRES  ERL= 89 :12 ERLMS =k 0:3 Wt
<YITrFZR (BF) > B
-4 EBLU=F 2:1 BEP <& (ZF) >
BU=ch 2:1 EMA* FEU—F BLU=F 14 JEESH
BHU=ch 2:1 BLLKTP RESEEAF- EL= 2 : 3 ZMd
SREEM-HUL BRIL=F 2 : 0 HEE
R BL= 2:0 BAfEP <YIT+FZR (&F) >
SRES  BRL=h 2:0 ERLte F®J—45 EL= 3:0 LA
BA 2 FANES - FESE BLU=Fh 2:1 BEfL—
NRZL8 IBA H-FEE = RES-HOM BRL=R 102 B
Nk 3 2BD%EXK - FRYESER BA "NZK16 AE—IC - BEES
<thig> X[ 2IERE CIEf
BEFEE =140 <HAR>
BAKBE S WE 59 X BAKBE S NE B
F2fi HTH & X g2l Mn BK
B3 B BW x
TFENGE E14 F#E WS X
BARTESEIM EE KE N THE O /EZHRELBICT—NELEI VX,




